
<latexit sha1_base64="ryCDYCz4dNYK08svtiwB+HNIKIo=">AAACF3icbVDLSgMxFM3UVx1fVZdugkVwNcy0YHVXdOOygm2FtpRM5rYNzSRDkhHK0L9w46+4caGIW935N6YPRasHAodz7uXmnDDhTBvf/3ByS8srq2v5dXdjc2t7p7C719AyVRTqVHKpbkKigTMBdcMMh5tEAYlDDs1weDHxm7egNJPi2owS6MSkL1iPUWKs1C147RD6TGQUhAE1dhuEg6CAQykirCVnkdsGEX353ULR9/wpsO+Vz/xKpYK/lWBOimiOWrfw3o4kTWO7TjnRuhX4ielkRBlGOYzddqohIXRI+tCyVJAYdCeb5hrjI6tEuCeVfcLgqfpzIyOx1qM4tJMxMQO96E3E/7xWanqnnYyJJDU27exQL+XYSDwpCUdMATV8ZAmhitm/YjogilDbgXZtCcFi5L+kUfKCE698VSpWz+d15NEBOkTHKEAVVEWXqIbqiKI79ICe0LNz7zw6L87rbDTnzHf20S84b5/H96BU</latexit>

Valence bond solid

<latexit sha1_base64="eGSPNz+aKlccPRKGJGF03y90B9w="></latexit>
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(|"#i � |#"i)<latexit sha1_base64="XDAL3PxGs5/X+s5N6yLfe0iMZZY="></latexit>

Néel, ⌘ihSii 6= 0

<latexit sha1_base64="ZfIh1UJIOndt/rsBQVJCSaY0LVw="></latexit>g<latexit sha1_base64="po1GRGmnqK4Wm20x2/tT9q3qRZg="></latexit>gc


